EAGRAROBREERT — 2 N— IBISH —F

202178270 (A) 3mEEEREI3H

m C2 ¥5%—#% (w8 | lmEmml - |5 5 0w 8
[AE£)] 1% :270,000 "  27%&:95,000H”  33%&:54,000H”  43%&:27,000H . 57&:14,000
& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
=Xy :03. - . — NREE  (KIR)
lglg |l v—FELF—% 50 1952 A V|G | mee
Rib—t>5— BiL—1F1kVUF%E LIRS
— L7 EA :03. -~ . — 1REERD (KR)
2 6 Y= It — % 7 500 1(70:?:? 3-2 38.0 4 ;’775) iy
L:a—RVKRIIL BV XNRS $EMES
N NS #HER : — — 1=EHEZ (KR)
3 2 JL—7z NIy ' 56.0 1'(03'9 o 379 ° ;‘_522) (e v:
RiHI T Bivanhl—t =Ty —1I
N sS4 o L AER & : - — FHE (KR)
4 4| 7= 2T RV ud ) 54.0 1('10/42')0 - %9 2 ?f; nBEA
R:2y)—>e—0—- B:Y3YaXvw7l> EBRTF— L
N N BARA :04. - . — SEHZ (KIR)
5l1lq| 7y y=— %7 | BAR 1086 24 393 3 ;1+210) B
Litv—nN—FK B:7TLIv bk NE &
N BERRE :04. — . — BAAIES] (KiR)
6l5/5| T FLAFTIb * 7 540 1(70?:; 56 %9 8 (4_5;) /T\%%i(
R:hzxkex) BT« T54 HE KR
BAARETE : - - BAAER] (KIR)
7 3| Toat—tra- 46 Rl 1.(025>.0 7-7 38.7 7 (4_653) /T\%%t
I LF—I14F— BILF-T>V17T mEx —K
— D e =ENG : — — BRAS (KR)
gl7|7 SN 4 6 3.0 1.(035).5 8-8 38.8 6 51:132) *E’;iﬁ*u‘lﬁ 7
L:8—RILRIIL B:TVF1 82 FEZ %Y K
® I —F—EBIERL
13—7—
23—7F—
Ga=r= 4,1,6,8,5,2,3,7
43—+ — 4,6,8,1,2,5,3,7
[ RN
B OB 8 200H 714K 6-8 250M B = 6-8 460M 3ER 2-6-8 530H
% B 8 120/ 2-8 220M B H 8-6 750/ JEH 8-6-2 1,840M
6 200M 2-6 360
2 170

ARICOVWTRDTEEERROODE. TR LIV,




